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QUESTION 1

View the Exhibit. 

A PeopleCode program at level 0 checks the values for Percent Available (PCT_AVAILABLE) at level 1. 

Analyze this code snippet. 

Local Rowset andRS_Level0, andRS_Level1; 

Local Row andRow_Level0, andRow_Level1; 

Local Record andRec_TaskRsrc; 

Local Field and Fld_PctAvail ; 

andRS_Level0 = GetLevel0(); 

andRow_Level0 = andRS_Level0.GetRow(1); 

andRS_Level1 = andRow_Level0.GetRowset(Scroll.PSU_TASK_RSRC); andRow_Level1 =
andRS_Level1.GetRow(1); 

andRec_TaskRsrc = andRow_Level1.GetRecord(Record.PSU_Task_RSRC); andFld_PctAvail =
andRec_TaskRsrc.GetField(Field.PCT_AVAILABLE); andPct = andFld_PctAvail.Value; 

Select the correct option. 

A. The program will produce the expected results. 

B. The program is missing a loop to process each row in the level 1 rowset. 

C. The program is missing a loop to process each rowset in the level 1 row. 

D. The program can be simplified to:andPct = andRS_Level0.PSU_Task_RSRC.PCT_AVAILABLE.Value; 

E. This line of code is not needed:andRS_Level1 = andRow_Level0.GetRowset(Scroll.PSU_TASK_RSRC); 

F. The andRS_Level0 = GetLevel0(); function is missing the Level 0 scroll name. 
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Correct Answer: B 

 

 

QUESTION 2

You are receiving a FIXED formatted file from an outside vendor. You want to import the file data into your PeopleSoft
system. However, the description field on the file has commas inserted and you want to eliminate them before
populating your system tables. Which are the five steps you need to perform to create the file layout on your system to
import the data and eliminate the extraneous characters in a field? (Choose five.) 

A. Write the application engine program to export the data. 

B. Provide the import data in a correctly formatted flat file. 

C. Create a file layout to match the record and field structure of the data. 

D. Set the file layout properties to specify the file layout format of FIXED. 

E. On the Preview tab, enter a comma as the strip character on the description field. 

F. Set the File Record ID on the File Layout segment properties. 

G. Preview and troubleshoot the input data format and content. 

H. On the Preview tab, enter a comma as the field qualifier on the description field. 

Correct Answer: BCDEG 

 

 

QUESTION 3

Set processing can improve Application Engine performance in many cases by ______. 

A. caching selected rows in memory 

B. using SQL to process groups of rows at one time 

C. transferring SQL processing from the client to the application server 

D. applying sophisticated data normalization algorithms based on set theory 

E. using precompiled SQL in Application Engine libraries, rather than letting Application Engine parse each statement 

Correct Answer: B 

 

QUESTION 4

View the Exhibit that shows the PeopleCode used to publish the LOCATION_SYNC service operation. This code has
been placed in the SavePostChange event in the SETID field in the LOCATION_TBL record. When a user updates the
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location in the PeopleSoft Pure Internet Architecture and saves the page, what data from the page will be copied into
the message structure? 

A. The entire rowset 

B. Only the rows of data at level 0 

C. Only the rows of data at level 1 

D. Only the rows of data that have changed in the rowset 

E. The original values of the changed rows, as well as the rows of data that have changed 

Correct Answer: D 

 

QUESTION 5

An inbound request to a PeopleSoft application is received by the appropriate listening connector in the Integration
Gateway. Which connector is the request passed to? 

A. HTTP target connector 

B. PeopleSoft target connector 

C. PeopleSoft listening connector 

D. PeopleSoft service listening connector 

Correct Answer: B 

 

QUESTION 6

View the Exhibit. 

This PeopleCode program disables the CHARGE_BACK field: 

Local Row andRow; 

andRow = GetRow(); 
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andRow.PSU_TASK_EFFORT.CHARGE_BACK.Enabled = False; 

For this program to work as shown, what is the highest level at which it could be placed? 

A. PSU_TASK_TBL (Table) 

B. PSU_TASK_RSRC (Table) 

C. PSU_TASK_EFFORT (Table) 

D. CHARGE_BACK (Record Field) 

E. PSU_TASK_RESOURCES (Component) 

F. PSU_TASK_TBL (Table) - Search Record 

Correct Answer: C 

 

QUESTION 7

Which statement describes a container message? 

A. The container can be nested. 

B. The resulting shape is always rowset based. 

C. PSCAMA is automatically added to the schema. 

D. The resulting shape is always nonrowset based. 

E. The message parts can be a mixture of rowset based and nonrowset based. 
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Correct Answer: D 

 

QUESTION 8

An Application Engine program is structured with sections, steps, and actions. Which two statements are correct?
(Choose two.) 

A. Steps can call other steps. 

B. Sections execute sequentially. 

C. Steps can call other programs. 

D. Steps execute alphabetically within a program. 

E. Sections are ordered alphabetically following MAIN. 

Correct Answer: CE 

 

QUESTION 9

You have been asked to create an application class to consume the asynchronous service operation ADD_COURSE.
The requirements state that you should execute all the standard edits for COURSE_TBL and throw an exception if an
error occurs. 

Complete the second line in this code: 

If andmsg.IsEditError Then 

Exit (1); 

A. %IntBroker.SetStatus(andmsg,%Operation_New) 

B. %IntBroker.SetStatus(andmsg,%Operation_Canceled) 

C. %IntBroker.SetStatus(andmsg,%Operation_Error) 

D. andMyErrors = %IntBroker.GetMessageErrors(andTransactionId); 

Correct Answer: C 

 

QUESTION 10

View the Exhibit. 

The PeopleCode action contains this code: 

If AE_STATEREC_AET.TYPE = Then AE_STATEREC_AET.AE_SECTION= PDATEA Else
AE_STATEREC_AET.AE_SECTION= PDATET End-If; 

What will be the result? 
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A. The Call Section will call either UPDATEA or UPDATET based on the value of AE_STATEREC_AET.TYPE. 

B. The Call Section action will show an error. The PeopleCode program also needs to populate the field
AE_STATEREC_AET.AE_APPLID. 

C. The Call Section action will show an error. The PeopleCode program also needs to populate the field
AE_STATEREC_AET.AE_APPLID, not AE_STATEREC_AET.AE_SECTION. 

D. The Call Section action will not execute because the PeopleCode program needs to pass values to the state record
using bind variables. 

E. The Call Section action will show an error because UPDATEA and UPDATET are not public sections. 

Correct Answer: A 

 

QUESTION 11

You created a component interface and now must implement it on an online component. The PeopleCode must
instantiate the component interface. Which five steps are needed to instantiate the component interface? (Choose five) 

A. Establish a session with the %Session system variable. 

B. Establish a session with the Connect method. 

C. Use the GetCompIntfc method. 

D. Set key values. 
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E. If the key uniquely defines a component interface, then execute the Find method. 

F. Get or set property values. 

G. Run the Cancel method and then the Save method. 

H. Run the Save method. 

Correct Answer: ACDFH 

 

 

QUESTION 12

View the Exhibit. Note the Application Engine action MAIN.Loop.W. 

Setting the Action Type to ReUse can significantly reduce the run time for certain Application Engine programs. 

Is this program a good candidate for ReUse, and why? 
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A. Yes. ReUse is most effective in a SQL looping construct. 

B. Yes. ReUse reduces compile time for PeopleCode statements. 

C. No. ReUse reduces compile time for PeopleCode, but this loop is in a Do While action. 

D. No. ReUse is most effective in a SQL looping construct, but this loop is in a PeopleCode action. 

E. Yes. ReUse reduces the number of checkpoints because fewer SQL Insert statements are performed. 

Correct Answer: A 
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